Combined Graduate Level Examination 2020 Tier-l

[Exam Date 23/08/2021
Exam Time 3:00 PM - 4:00 PM
Subject Combined Graduate Level Examination 2020 Tier 1

Section : General Intelligence and Reasoning

Q.1 g5 fIwea g R et T gk & St aXe @ Haitd § 5 - g 1 e 9t vt
TP goy & Talka g1

(44, 24, 132)
Ans X 1.(16, 26, 186)

X 2. (46, 22, 306)
X 3.(32, 28, 250)
< 4. (56, 26, 182)

Question ID : 81616113833
Status : Not Answered
Chosen Option : --

Q.2 g3 fdwen g ot N e & S veR Wdfta §, o e gl W A usdt d=n
3R TS TE W uiedl T= e g1

485:25::7:21::401:23
Ans K 1.246
5 2.346
w” 3.325
X 4.225

Question ID : 81616113830
Status : Not Answered
Chosen Option : --

Q3 ggﬁmgﬁﬁmwﬁaﬁmﬁw%,mwmwmwﬁﬁw
|

SETd ST : o1 BT =2 I : 2
Ans X 1. WOF®D

X 3. &TBRY

X 4. St

Question ID : 81616114125
Status : Not Answered
Chosen Option : --




Q.4 9 fawd g e S o gak & Sl avg 9 Hafla § o - g e 9 Y wemd
TP go¥ 9 "alka g1

(47, 64, 55)

Ans X 1.(28, 25, 34)
X 2. (36, 100, 47)
7 3. (46, 49, 53)
X 4. (56, 80, 64)

Question ID : 81616113832
Status : Not Answered
Chosen Option : --

QS5 & =% ofic # Aga vF °F T4 T gl 36 AT o9 A, e § ¥ Fie-w g 3 e $
8T Boler 9T 3TTI?

Question ID : 81616113838
Status : Answered
Chosen Option : 2

Q.6 ﬁwﬁmgﬁﬁmwwﬁwmﬁm%ﬁqﬁ% 3ol eI & 3ma B

1. Cardinal

2. Cartography
3. Cardiac

4. Carrot

5. Callous

6. Careless

Ans X 1.53,1,6,2 4
<7 2.5,3,1,6,4,2
X3.5,3,1,4,6,2
X 4.51,3,6,4,2

Question ID : 81616114122
Status : Answered
Chosen Option : 2




Q7 fu e feed # @ 37 gl = 5 i@ gEer § geaftes (2) § T 9w

REJ_H?

Ans .

x4

X
=" A
B —

Question ID : 81616114139

Status : Answered

Chosen Option : 3

Q.8 T gl &1 a8 Wat "o gH o1 iH® U § * Rl & ®IM W 36 | GHisr
wgfera g1 semi
14*7*39*133*19* 130
Ans X 1.+ — + % =
x2_+, +,—, X, =
3%, =+, =
‘:v“; 4. X+ — =

Question ID : 81616113834

Status : Answered

Chosen Option : 4




Q.9 ‘A#B’means ‘A is the brother of B’.
‘A @ B’ means ‘A is the daughter of B’.
‘A & B’ means ‘A is the husband of B’.
‘A % B’ means ‘A is the wife of B’.

F'WHEQ@T&Y @M % K, then how is K related to T?
Ans & 1. Mother

#5 2. Father
«# 3. Father-in-law
25 4. Mother-in-law

Question ID : 81616113726
Status : Answered
Chosen Option : 3

Q.10 Tfg 19 TS 2000 FH FYAR AT, A 15 T 2012 B HIH-4T f 12
Ans X' 1 TFAR

X 2. F4aR

¥ 3. IMAR

& 4. IFIR

Question ID : 81616113734
Status : Not Answered
Chosen Option : --

Q.11 it fafRry FeuTar & 'DARK' 1 'CBQJ’ & U H 3R ‘SOUND’ FI ‘RPVMC’ & FU H
o wrar 81 &Y St v # “ToXIc’ B 4 forar sem?
Ans X 1.PUYJD

< 2. SNWHB
<7 3. SPWJB
2 4. UPYJD

Question ID : 81616113824
Status : Answered
Chosen Option : 3

Q.12 fapft fafRry Heumur &, ‘PRINTER’ F1 11181814759’ 3R ‘LOGIC’ & “151520924’ & =7
o Feas far T §, dt St utar § “TERMITE’ &Y 39 Feas fpar s

Ans 7 1.75913182022
#5 2.2059131875
#5 3.7591418205
£5 4.75181392022

Question ID : 81616113825

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.13 e IR qoi-awE 3w e § RFd @ i fredt wigaf & wo gu § o S H A v 3R
21 39 3R Jui-gg &1 999 H|
Ans X 1.BFLT

X 2.LPVD
X 3. TXDL
« 4.LOUC

Question ID : 81616114123
Status : Answered
Chosen Option : 4

Q14 A sl & FET & T gHS N OASA F FH AR 3H 73 GU FOST H HIEH H A i I
¥ 3T P F e W g Har R@em?
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Question ID : 81616113740
Status : Answered
Chosen Option : 1




Q.15 2 IR eq fow e € o @ i felt dedf A v qum € o 994 @ te 3ivd ®1 99
SR g HT T B |
Ans X 1. G
K 2. Sulftad
X 3. 3R
o7 4. SUIH

Question ID : 81616113821
Status : Answered
Chosen Option : 4

Q.16 =it % 3@ o= @ TS F, T G F Faw F B 39 NG g@W Feleaw T § @i
gl

X 2. o5k, FellenY, 815

L

v
T, Hlgolu

Ans

K 3. HIER, wEfehy
X 4. THAGS, FJSH, TITURT

Question ID : 81616113842
Status : Answered
Chosen Option : 1

Q.17 9 R G@n-gw fu Y 7 o A i+ fddll wed # e v ¢ ol 39 9 ue e
21 3 3RATd H&ITI-gTH &1 Ia B
Ans X 1.11:242
«” 2.19:622
2 3.12:288

X 4.14:392

Question ID : 81616113831
Status : Answered
Chosen Option : 2

Q.18 f3u e fawedl A & a5 TBn g4 ol fFafaied yaar & vyig (7) & R w® srwft?
18, 29, 42, 59, 78, 101, ?
Ans X 1.137
o 2.130
X 3.125

K 4.121

Question ID : 81616114132
Status : Answered
Chosen Option : 2




Q.19 fou 7Y fawedl § & 98 qui-ayg g of fFuffad gaar & uyiig (?) & I W e
YTUQ, XVRU, ?, VZLC, UBIG
Ans X 1.WYOX
2 2. WYoy
X 3. WXPY
o7 4. WXOY

Question ID : 81616113717
Status : Answered
Chosen Option : 4

Question ID : 81616113837
Status : Answered
Chosen Option : 1

Q.21 Select the option in which the words share the same relationship as that shared by the
given pair of words.

Pedology : Soil
Ans X 1. Cytology : Metabolism
#% 2. Hepatology : Blood
£ 3. Seismology : Pressure
w# 4. Pomology : Fruits

Question ID : 81616113722
Status : Answered
Chosen Option : 4




02 g7 T I & T g F wEERT el & g )
NS
Ans X1E

K2 YL

< 3.

Question ID : 81616113738
Status : Answered
Chosen Option : 4

Q.23 fw g Hy=T SR Frep el @1 oo A v | FU A & 1S THHR B 9 A §Y, Ha &
€ 9= ©U I 71 a2 I U wedta g, Fuffva & F o 3 oed i 1w sy &1
A H = I TRV Fd &

Ans 7 1. Haa (TSRY |1 SFTER0 PR 8
X 2. 1 ot e 3R e e ©
X 3. el Py | SFTERY BT &
XK 4. o ey | 3R 111 SR R §

Question ID : 81616113828
Status : Answered
Chosen Option : 1

Q.24 34&RI & I WIS BT I BN ot &1 T3 yaan d Rad Rl # 5iHe T 8 @ T W®
e B QU S|

JP_LD_P_MDJ_C_D_PC_D
Ans X 1.C,J,C,P.N,P,O

w 2.C,J,C,PN,J O
#53.C,J,N,P,O,J, 0
£ 4.C,J,C,PRO,J,P

Question ID : 81616113725
Status : Answered
Chosen Option : 2




Q.25 zfy ghor Fr MN T T AT § A BT © FAeT = OmE 60T ghate T =

M

FEqQ3267G

- DYBZERTT
~9Y98epId
~+9Y38Ep3T
«9L38¢ep3T

Question ID : 81616113739

Status : Answered

Chosen Option : 3

Section : General Awareness

Q.1 Which of the following is NOT a traditional water storage structure?
Ans X 1. Tanka

#% 2. Johad
X 3.Kund
w# 4. Haryali

Question ID : 81616113752

Status : Answered

Chosen Option : 4

Q.2 SNfe & T NPT de Tl A T 21
Ans 7 1. STEETS

X 2.fEg

X 3.35%

X 4. B

Question ID : 81616113844

Status : Answered

Chosen Option : 3




Q.3 A9 H q SI9-I1 STayurd 9o uew o fRUd g2
Ans X 1. WSYURT

X 2. QIR

X 3. Raugey

7 4. Y3AUR

Question ID : 81616113852
Status : Answered
Chosen Option : 4

Q.4 A 2021 F 44 98 B AR & Yog 1 YT B TP YNNI SRT BT A {50 Ta A G132
Ans 7 1. el

< 2. grafaeT

2< 3. dichaid

X 4. i

Question ID : 81616113864
Status : Not Answered
Chosen Option : --

Q.5 ‘QSRAM’ ST Fd&R 2020 ¥ T4l & ATI QSRAM FIT 82
Ans X 1. 3R HeTg dfafes fmga d
7 2. DU G Bl g U AT H AR B dreil FHErsd yorat
X 3. Wi sifiefed TRUTE
X 4. % A 5RER omcht

Question ID : 81616113765
Status : Answered
Chosen Option : 2

Q.6 The lowest temperature at which a substance catches fire is called its:

Ans X 1.normal temperature
«# 2. ignition temperature
% 3. boiling point

#5 4. melting point

Question ID : 81616113847
Status : Answered
Chosen Option : 2

Q7 YR Ty & SO S 3 e TR  Aregw | SigT W e
Ans X 1.53d

7 2.52d

X 3.42d

X 4.43d

Question ID : 81616113761
Status : Answered
Chosen Option : 3




Q.8 o o ¥ fHa Sadt 2021 & fovaeT ¢ ® sifeeforar & e uRa & o faerft =

T2
Ans X 1. G BTFR
X 2. AigwTe RR
X 3. IR YR
o 4. BIY Ud

Question ID : 81616114166
Status : Not Answered
Chosen Option : --

Q.9 g ¥ A PIH-1 IR FT 37T TP Hell g5 s e B dg AR Bl 82
Ans .7 1. B HIWRal

XK 2.5y

X 3. el F A

2 4. Y ([AIREa)

Question ID : 81616113849
Status : Not Answered
Chosen Option : --

Q.10 SgaR 2020 ¥ Y= YRA B! Ugell A qar, Hafsarsik__ F S gt gl
Ans 1. xd

X 2. ISDIT

& 3. IBHaEIG

X 4. T8I

Question ID : 81616114170
Status : Not Answered
Chosen Option : --

QM W B ¢, N1 Hey wafaRur Hore I gRT fan sirar 82
Ans X 1, qafaRofig s/ 3R &R e

7 2. yafaRuii sraefa SR U safad e

2< 3. STl SR Ufd =afad o

2 4. IGHMT 3R B IeG

Question ID : 81616113744
Status : Not Answered
Chosen Option : --




Q.12 1579 # A9 # | fHaa weeRam™T S} fomar ur?

Ans

X 1.5
XK 2. Wik
o7 3. BN
X 4. TSRl

Question ID : 81616113855
Status : Not Answered
Chosen Option : --

Q.13 3 BT Ui, o 2010 & HRA § Uxr b a7 AT, 98 STIRRI X (Ra)' 3R R BT

Ans

TP GHMRE €, it T /A F R

2 1. RiRfere
o 2.0
2 3. el
X 4. 3N ot

Question ID : 81616113846
Status : Not Answered
Chosen Option : --

Q.14 g § § PH-9T VMRS, ToRE § fRa 872

Ans

2 1. el BT gpavT
7 2. TH-DI-a1d
2< 3. 3fQTS gxaTSl
X 4. G BT AHRT

Question ID : 81616113843
Status : Not Answered
Chosen Option : --

Q.15 gpd HHIfAd ST 7; 3R O 391 & ST & HRUT o 3R S dieht g ot &1 Frr &

Ans

Y B-91 UTaA fIBR Tgf afvfa 82
o 1. e

X 2.3t

X 3. %

K 4.3

Question ID : 81616113750
Status : Not Answered
Chosen Option : --




Q.16 37 ¥ q S 1 MisarT de &1 w75 ur?
Ans X 1. TeOT SAR®T

X 2. uRd

< 3. sffefera

o7 4. TR SR

Question ID : 81616114157
Status : Not Answered
Chosen Option : --

Q17 Mg Aaeiivs = ol
Ans .7 1. HIqdrs

X 2. uife

2 3. gdf T

XK 4.9

Question ID : 81616113856
Status : Not Answered
Chosen Option : --

s A
Ans w7 1. HgRIY

X 2. BTG
X 3. SR U™
X 4. 3ty U=

Q.18 e qifed $t ugd, St 3= 3Ty § T S Usd €, Sast 2021 § I | YRE B

Question ID : 81616114168
Status : Not Answered
Chosen Option : --

Q.19 o # 9 fa wgrem midh 3 YR Fifear ot uriy & g2
Ans X 1. gl pUaHl

X 2. deed

X 3. T ade

o7 4. AN TG

Question ID : 81616113759
Status : Not Answered
Chosen Option : --




Q.20 YR fasie & YT 10 7S 1857 H1 WS A g3 3R T8 T ot g5
Ans X 1.18 fideR 1859 i faeed!

25 2. 15 3T 1860 I it
X 3.13 T3 1858 B! Sl
&7 4. 20 [T 1858 I IR

Question ID : 81616113756
Status : Not Answered
Chosen Option : --
Q.21 GRRMY WATE & TH 3] § fha sifefier w=Hm) Hisg g 82
Ans X 1.G
X 2.1
2 3.
7 4. TR
Question ID : 81616113850
Status : Not Answered

Chosen Option :

Q.22 g H A I AeauT & el W T (3 $1 fFgfeT svar g2
2 1. Ty

A 2. O 19 3gad

o 3. TP

X 4. g &< & Te =i

Ans

Question ID :
Status :
Chosen Option :

81616113861
Not Answered

Q.23 g & A 919 9T TP IS ed ueh 27

Ans X 1R
5 2. 9”9
X 3. iff
o 4. DIl
Question ID : 81616114151
Status : Not Answered
Chosen Option : ==
Q.24 ufywa fefis = (Ethical Religion) TH® JRA® & AP B 872
Ans X 1. fqIer Urg
< 2. W@ [dd@Tig
<7 3. FRTET el
X 4. fuA =g
Question ID : 81616114162
Status : Not Answered

Chosen Option :




Q.25 GHATHT G TIaR MR & o T 717 Tl
Ans X 1.89

X 2. B I

XK 3. Ad

o 4. 0T JAT

Question ID : 81616113858
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude

Q1 o mfeg 3 10% afis w@afs @@= & W 330,800 & AR 3 a¥ ¥ fw suR &, P w=
F ®F § THYE @aT ¥ G A F A FH, 38 313,268 & AR v FHar AWy a9 F
T H, 38 HOT IR & T Ix F P AT x F AT AG H

Ans 1. 26,400
X2 26,200
X3 26,510
X 4. 26,620

Question ID : 81616113875
Status : Not Answered
Chosen Option : -

Q2 s AR § o awt @ siwT a9 40 kg ¥l IR 36 kg 3HiEE Fo @ 5 o= AR & onfder @
ST T TTE 43.2 kg HE ToT I 5 T==1 AT T =TT AC, & gt 2ol & g==t &7 3w a=i 7
TAT oM HRT 7 R § fraer 759 9

Ans X1, 35
X2 50
K340
w4 45

Question ID : 81616113769
Status : Not Answered
Chosen Option : --

Q3 FfE 9(a? + b2 +c2+20=12(a+ 20) R, SN V6a +9b + 2¢ F HiA A FL
Ans g, 6

2 4

X3 2

X4 3

Question ID : 81616113880
Status : Not Answered
Chosen Option : --




Q4 ABCD, v ThT TG &, A 24=1x04B=5y°20=2x° AR 2D =y°}l (Bx—y) F AF AT FI
Ans  X'1. 120

v 2 150

# 3. 60

<4 90

Question ID : 81616113781
Status : Answered
Chosen Option : 2

QS5 TR, 39 AW T 85% W T g1 TR 3TF =T H x % F JRE A E, g9 F 60% Fr I @
& 3R 31T F 26% H 3T @A &, A x F AT T B

Ans 1. 20
< 2. 30
K3 26
K434

Question ID : 81616113872
Status : Answered
Chosen Option : 1

Q.6 @ I REERETE 128 T g@RT WIS 3 N ST §1 TMH T ITIS FY AR T2 F el S

32
35 30

25 — = —

20 — —
14

— 16—
15 — &=
10 8 SN B S B A
HHHHHEE
0 . . : . .

—
0-15 15-30 30-45 45-60 60-75 75-90

ol dEn

BT ERT AT 3

forcer sforer o7 &1 60 & FH 3 T §T 87
Ans X 1. B7.5%
<2 75%
3 B82.5%
K4 72.5%

Question ID : 81616113081
Status : Answered
Chosen Option : 3




Q.7 & oi% i F arTuT FY A wF & 3eaR &

A, B, C, D 3X E uier deumEt & camaifdes gredswAr (VC) & v amrifea oEr &
TE
Nl

T 2013 2014 2015 2016 2017 2018

A 120 135 130 135 128 140

B 125 132 138 132 135 142

(o4 125 120 125 138 140 135

D 100 125 122 140 128 138

E 105 110 115 147 130 145

2014, 2015 3iX 2017 & ¥ B & VC & v amifea ot #r sitwa gear 3t 2013 3ikv 2018 &

TR E F AAIRRG ST 7 AT TS FT DR AT H
Ans X 1. 265

<2 255

#3250

4. 260

Question ID : 81616114092
Status : Answered
Chosen Option : 4

Q.8 & o1$ arfeemr & T &Y R 9o # 3eaw &

A, B, C, D 3R E 9= deumet & careaiides TedsaAr (VC) & v amAifha ot @
&
a¥

Faries 2013 2014 2015 2016 2017 2018

A 120 135 130 135 128 140

B 125 132 138 132 135 142

C 125 120 125 138 140 135

D 100 125 122 140 128 138

E 105 110 115 147 130 145

2015 & WFu A, B 3k D & VC & faw amwifeha ot & gor @, 2018 & wrue C iR E &

ATHAITRd BT H For TEAT ¥ fraar s 310 82 (@ee & v &g a& #a)
Ans X1.282

V2 39.3

<3 36.8

K4 357

Question ID : 81616114094
Status : Not Answered
Chosen Option : --




Q9 gfr 2 4 1 _ 4sech 0°< 8 <90°%, AT cotd +cosecd FT AT AT FL|

1-sin 8 1+sin 8

Ans o 1. ‘J{E

4\5

&2,
X 3. 3@

&< 4.

Question ID : 81616113886
Status : Answered
Chosen Option : 1

Q.10 fyrsr ABC 3t DBC, 3sraferss wot BC arer @@anior feyer &1 BD 3iv AC &t 9@t W3 P )
gia=sfea @i €1 afd PA = 8 cm, PC = 4 cm 3k PD = 3.2 cm &, & BD & o@s (cm #) w1
Eo|

Ans  71. 8.8
<2 56
K3 64

x4 72

Question ID : 81616113883
Status : Not Answered

Chosen Option : ==

Q.11 st 54, 49, 22 3R 21 F ¥ TAF ¥ x FT TS W Wod GEAW FAGIS F E (8x—25) IR
(7x—26) T e AT B

Ans  X'1. 5 : 4
2 29 1 24
<315 : 13
K4 27 . 26

Question ID : 81616113874
Status : Not Answered
Chosen Option : --

Q.12 48 km/h Fr =TT & =TI TR, 3ET A F 12 kmvh Y T ¥ oG ST @ 18 FeE H IR Har
T 3t Rula far & Tod Afer #r 12 Y% F aR = &1 "o fr w (km/h #) 7= w2

Ans X 1. 8§
w2 B
310
K4 9

Question ID : 81616113877
Status : Not Answered
Chosen Option : --




Q13 wF goareR A F ARET 1232 m §1 i & IR 3T 7 m sigr AT &) AR 7 &9 (m? #) w9
| (m =2 A1)
Ans X'1. 8800
V2 8778
/3. 8558
K4 3756

Question ID : 81616113777
Status : Not Answered
Chosen Option : --

Q.14 . . : .
I7E sina +sinf =cosa +cosf =1 %\', ar sina +cosa= ?

Ans 1 1
X2 2
X3 -1
x40

Question ID : 81616114291
Status : Answered
Chosen Option : 4

Q15 v frar 7 21,800 # o el @Y 387 575 F 40% Rilsi # 15% @i Waw A Aaw F &
33§%F@aﬂa’iﬁ20%wméﬂﬂ o TR 10% omsT 9o &del & o, 30 O Rellat fraer amer
SR 9T ST TMEe?

Ans 1. 30%
K2 20%
K3 24%
X4 25%

Question ID : 81616114176
Status : Not Answered
Chosen Option : --

Q16 Ffr 937 aTer T 89x64287y, 72 W R §, 3 (3x + 2y) T AT AT FL

Ans 1. 28
X2 25
<3 31
<4 30

Question ID : 81616113868
Status : Answered
Chosen Option : 1




Q17 A aBc, wwarg P & W sem 18 om §1 7R BC W Mg D 3w v#w § R BD = 1 BC, & AD
TS (cm H) AT H

ANS o1 7.4E
X2 643
X3 843
74 647

Question ID : 81616113784
Status : Not Answered
Chosen Option : --

QI8 i x+y+z=2,3+y +2° —3xyz="748%, a (F+y2 +22) F AT AT FI
Ans 1. 28

<2 29

K 22

K424

Question ID : 81616113881
Status : Not Answered
Chosen Option : --

Q19 Ify 2x+9)°— (x— 2))° = (x + 39)[Ax* + By*>+ Cxy] &, & (A+2B+C) F1 AT 7T %
Ans x 1. 14

K27

3. 10

4013

Question ID : 81616114182
Status : Not Answered
Chosen Option : --




Q.20 = s 7% Tut F B T GERT F= A & @i § FERT o (2 aw #) sk gt F S
ZANT 4 AT FAR A & Fodi (2 o H) P g §l

700 ERECIFIGE B

560 2 QUR el @) @ R g -
“ a o
so0 E o 5/
200 2 | -
ar 300 2 % ‘ = ] |
s =
Er
100 L ‘
o (I I

2012 2013 2014 2015 2016 2017

2013 & 2015 @& e A1l H Tle & fow TaRa Fa o 3k 2014, 2016 3k 2017 # TR 7
W FoT TR T I A F

Ans X127 : 5B

K2 64 . 37
K3 56 27
w4 37 . 64

Question ID : 81616113083
Status : Not Answered
Chosen Option : --

Q21 vw Raa & # # F AT, X #R Y &1 geradnst & swqgaa 5 7 81 X iR Y Faw o w3
70 femt & U F TR §1 3P X F w1 9% w3 42 e a1g w0 ol fe@m sk Y, AW w
F Foawt Rt & U FEm

AN X170 fr
X2 96 fa
<3 90 &=
X480 &=

Question ID : 81616113876
Status : Not Answered
Chosen Option : --

Q22 g4 160f3x[12+40f{6X3+ (11— 2)}] + (12=8 X 2) & AT AT FYI
Ans o]

K=
g

| @

7 2.

oh

< 3.

Ww e

X 4.

Question ID : 81616114172
Status : Not Answered
Chosen Option : --




o cosec{60” + A) — sec(30° — 4) +% FT AT 1T FI
Ans 5 4 |

K2 2

X3 0

K4 =1

Question ID : 81616112979
Status : Not Answered
Chosen Option : ==

Q.24 AABC # 2 A &7 TAGaeSI®, 8o BC & fig D = fwar 81 afg AB = 12 cm, AC = 15 cm 3R
BC = 18 cm &, & DC & siang A1a Xl

Ans 110 em
K29 cm
K3 6 cm
X4 8 cm

Question ID : 81616114187
Status : Answered
Chosen Option : 1

Q.25 el awg @7 sifeha How T180 B W, W 3 Ho@ W 20% e W a9 W, 25% W WA I g
TG F FT 7qeF € #H) 7 H

Ans X1 110.80
v2 115.20
K3 125.50
X4.120.80

Question ID : 81616113871
Status : Answered
Chosen Option : 3

Section : English Comprehension

Q.1 Select the option that can be used as a one-word substitute for the given group of
words.

A family of young birds
Ans X 1.Kids
£ 2. Litter
25 3. Offspring
«# 4. Brood

Question ID : 81616113913
Status : Answered
Chosen Option : 3




Q.2 Select the option that expresses the given sentence in indirect speech.

Kruti asked Gopal, “Have you heard the news about the inauguration of the new
bridge?”
Ans X 1. Kruti asked Gopal if they have heard the news about the inauguration of the new

bridge.

£ 2. Kruti asked to Gopal you have heard the news about the inauguration of the new
bridge.

£ 3. Kruti asked Gopal if you have hear the news about the inauguration of the new
bridge.

o 4. Kruti asked Gopal if he had heard the news about the inauguration of the new bridge.

Question ID : 81616113795
Status : Answered
Chosen Option : 4

Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

Many artisans were almost without any work during the pandemic.

Ans 25 1. without any almost
#5 2. any without almost
£5 3. almost any without
«# 4. No substitution

Question ID : 81616113797
Status : Answered
Chosen Option : 4

Q.4 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. It is essential for the marketer to study the behaviour of the consumers in order to
make better strategic marketing decisions.

B. The study of consumer behaviour is equally important for the non-profit
organisations such as governmental agencies, hospitals, NGOs, charitable
organisations.

C. Thus, by studying the consumer behaviour before and during purchase helps in
production scheduling, designing, pricing, positioning, segmentation, advertising and
other promotional activities.

D. If the marketer has complete knowledge about the consumer’s likings or disliking,
then he can predict the response of the potential customers towards his offerings.

Ans 7 1.ADCB
X 2. ACBD
X 3.BCAD
X 4.CDBA

Question ID : 81616113906
Status : Answered
Chosen Option : 3




Q.5 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If there is no error, select

‘No error’.

The balloon flew up / as soon as / the man cutting the string.

Ans ¢+ 1. the man cutting the string
#5 2. No error
£5 3. The balloon flew up

5 4. as soon as

Question ID : 81616113893
Status : Answered
Chosen Option : 3

Q.6 Select the most appropriate ANTONYM of the given word.
Ramify

Ans X 1.Insulate

25 2. Divide

2% 3. Isolate

w7 4. Unite

Question ID : 81616113910
Status : Answered
Chosen Option : 4

Q.7 Select the most appropriate ANTONYM of the given word.
Impoverished
Ans  # 1.Rich
5 2. Needy
£% 3. deprived
£5 4. Unlucky

Question ID : 81616114212
Status : Answered
Chosen Option : 1

Q.8 The following sentence has been divided into parts. One of them contains an error.
Select the part that contains the error from the given options.

It is misleading / to imagine that / computers can think / same like human beings.
Ans 1. computers can think
25 2. Itis misleading
5 3.to imagine that

«# 4. same like human beings

Question ID : 81616113894
Status : Answered
Chosen Option : 4




Q.9 Select the most appropriate meaning of the given idiom.

A square deal
Ans 7 1. Afair agreement

£5 2. An unfair agreement
£ 3. A dishonest transaction

#5 4. A nice decoration

Question ID : 81616113911
Status : Answered
Chosen Option : 1

Q.10 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. The mouse, however, reached his hole in safety.

B. A bull was bitten by a mouse, and, pained by the wound, tried to capture him.

C. The mouse, peeping out, crept up his flank and, again biting him, retreated to his
hole.

D. The bull dug into the walls with his horns until, wearied, he crouched down and
slept by the hole.

Ans X 1.ADBC
X 2. BCDA
7 3. BADC
X 4.DACB

Question ID : 81616114208
Status : Answered
Chosen Option : 3

Q.11 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

Sameer gave very less information to Muneer about the progress of the work.
Ans X 1. No substitution

w” 2. gave very little information
#5 3. gave very less informations

5 4. give very less information

Question ID : 81616113897
Status : Answered
Chosen Option : 4

Q.12 Select the most appropriate synonym of the given word.

Shimmer
Ans X 1. Shake

w# 2. Shine
£ 3. Shiver
£5 4. Quake

Question ID : 81616113806
Status : Answered
Chosen Option : 3




Q.13 Select the most appropriate synonym of the given word.
Uncanny

Ans X 1. Unprotected

#% 2. Exposed

w# 3. Mysterious

25 4. Plain

Question ID : 81616113807
Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate option to fill in the blank.

The invention of fertilisers and insecticides has increased agricultural
required to feed the swelling population of the world.

Ans 7 1. output
#% 2. goods

£ 3. cargo
£ 4. product

which is

Question ID : 81616113817
Status : Answered
Chosen Option : 4

Q.15 Select the INCORRECTLY spelt word.
Ans X 1. Inconclusive

w# 2. Incandesent
25 3. Impervious
25 4. Impeccable

Question ID : 81616114219
Status : Answered
Chosen Option : 2

words.

An incongruous or chaotic mixture
Ans 7 1. Cacophony

25 2. Discord
25 3. Harmony
25 4. Melody

Q.16 Select the option that can be used as a one-word substitute for the given group of

Question ID : 81616113914
Status : Answered
Chosen Option : 1




Q.17 Select the INCORRECTLY spelt word.
Ans X 1.Review

«# 2. Reciept
£ 3. Deceive
25 4. Perceive

Question ID : 81616114218
Status : Answered
Chosen Option : 2

Q.18 Select the option that expresses the given sentence in passive voice.

The armed forces put up an impressive parade on Republic Day.

Ans ¢ 1. Animpressive parade was being put up on Republic Day by the armed forces.
£5 2. An impressive parade is putting up by the armed forces on Republic Day.
«## 3. An impressive parade was put up by the armed forces on Republic Day.

25 4. An impressive parade have been put up by the armed forces on Republic Day.

Question ID : 81616113895
Status : Answered
Chosen Option : 3

Q.19 Select the most appropriate option to fill in the blank.

It is said that civilised man has about twenty wild animals.
Ans X 1. staggered

25 2. amazed
25 3. stunned
w# 4. tamed

Question ID : 81616113917
Status : Answered
Chosen Option : 3

Q.20 Select the most appropriate meaning of the given idiom.

On edge
Ans X 1. Keeping things safely

25 2. Doing exercises regularly
25 3. Playing a tiring game

=7 4. Nervous and unable to relax

Question ID : 81616113912
Status : Answered
Chosen Option : 4




Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Waterfalls, sometimes called cataracts, arise from an abrupt steepening of a river channel
that causes the flow of water to drop vertically, or nearly so. Waterfalls of small (1) and
lesser steepness are called cascades; the (2) is often applied to a series of small falls
3) a river. Still gentler reaches of rivers that nonetheless (4) turbulent flow and
white water in response to a local (5) in channel gradient are rapids.
SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank 1.

Ans 1. height
£5 2. summit
£% 3. peak
25 4. growth

Question ID : 81616114203
Status : Answered
Chosen Option : 1

Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Waterfalls, sometimes called cataracts, arise from an abrupt steepening of a river channel
that causes the flow of water to drop vertically, or nearly so. Waterfalls of small (1) and
lesser steepness are called cascades; the (2) is often applied to a series of small falls
(3) a river. Still gentler reaches of rivers that nonetheless (4) turbulent flow and
white water in response to a local (5) in channel gradient are rapids.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank 2.
Ans X 1. call

5 2. idiom
25 3. example
o 4. term

Question ID : 81616114204
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Waterfalls, sometimes called cataracts, arise from an abrupt steepening of a river channel
that causes the flow of water to drop vertically, or nearly so. Waterfalls of small (1) and
lesser steepness are called cascades; the (2) is often applied to a series of small falls
(3) a river. Still gentler reaches of rivers that nonetheless (4) turbulent flow and
white water in response to a local (5) in channel gradient are rapids.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank 3.
Ans ¢ 1. along

2% 2. beyond
25 3. above
5 4. overhead

Question ID : 81616114205
Status : Not Answered
Chosen Option : --

Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Waterfalls, sometimes called cataracts, arise from an abrupt steepening of a river channel
that causes the flow of water to drop vertically, or nearly so. Waterfalls of small (1) and
lesser steepness are called cascades; the (2) is often applied to a series of small falls
3) a river. Still gentler reaches of rivers that nonetheless (4) turbulent flow and
white water in response to a local (5) in channel gradient are rapids.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank 4.
Ans X 1.parade

/< 2. boast
«7 3. exhibit
£% 4. flourish

Question ID : 81616114206
Status : Not Answered
Chosen Option : --




Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Waterfalls, sometimes called cataracts, arise from an abrupt steepening of a river channel
that causes the flow of water to drop vertically, or nearly so. Waterfalls of small (1) and
lesser steepness are called cascades; the (2) is often applied to a series of small falls
3) a river. Still gentler reaches of rivers that nonetheless (4) turbulent flow and
white water in response to a local (5) in channel gradient are rapids.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank 5.
Ans X 1. growth

£% 2. proliferation
£% 3. spread

« 4. intensification

Question ID : 81616114207
Status : Not Answered
Chosen Option : --




